EDITION. TYPE OF MODIFICATION/MODIFICATION NOTICE. APPROVED BY/DATE.

B CARTOUCHE, REORIENTED BALOONS, A2

0

DETAIL B
1:1

SEE DETAIL A

(i

26

I —

>
SN
/2N
&7/
A
A SEE DETAIL
@ SEEDETAIL  C
- 16 =5 {Em 1:10
[
|

495
379

284

illil/ss:

iy Bo
U5

195 170

390 220

This document must not be copied
without our written permission, and
the contents thereof must not be im-
parted to a third part nor be used

for any unauthorized purpose. Contra-
vention will be prosecuted.

260

DETAIL C

350
220

Denna ritning aer var egendom och

skyddad enligt lag, samt
far ej utan vart medgivande kopi-

eras, delgivas annan person, el-
ler obehgrigen anveendas.

1:2 DETAIL D
1:1
26 1 MTV
25 |3 TIGE_M16X150 STEEL ST0047467
24 |4 CRAPAUX_1 STEEL ST0045949
23 |4 SOCKET_HEAD_SCREW._M8X25 STEEL SOCKET HEAD SCREW M8X25
22 12 SOCKET_HEAD_SCREW_M6X20 STEEL SOCKET HEAD SCREW M6X20
21 1 SOCKET_HEAD_SCREW_M10X40 STEEL SOCKET HEAD SCREW M10X40
20 |4 PLAIN_WASHER_M8 STEEL PLAIN WASHER M8
19 |2 8H7_PIN STEEL PIN 8x30
18 |2 10H7_PIN STEEL PIN 10x35
17 le SPHERICAL_WASHER_M16 M16 WASHER
16 13 HEX_NUT_M16 STEEL M16 HEXAGONAL NUT
SEEDETAIL D 15 |2 REFERENCE_SOCKET LHCGIMSAQ002
14 |8 CHAMFER_PL_WASHER_NORMAL_16X30 STEEL ISO 7091_16x30-ST-AQU
13 |a HEX_HD_SCREW_GRADE_A_M18X80 STEEL ISO 4014 M16x80
12 |e HEXAGONAL _M8X40 STEEL HEXAGONAL M8x40
11 6 HEXAGONAL_NUT_M8 STEEL HEXAGONAL M8 NUT
10 |12 HEXAGONAL_SOCKET_SCREW_M6X25 STEEL HEX SOCKET SCREW M6X25
T 9 3 HEX_SCKT_HEAD_CAP_SCREW_M8X30 STEEL HEX SOCKET HEAD SCREW M8x30)
8 1 ALIGNMENT_SUPPORT CTEMQUA_0025
7 6 FLAT BAR CTFBTCM_0003
O 6 1 PLAIN_WASHER STEEL 901-012
o 5 1 BASE_PLATE AW6082 901-005
o I 4 1 COLUMN AW6082 901-004
N 3 1 SUPPORT_PLATE AW6082 901-003
o 2 1 FIXED_PLATE AW6082 901-002
1 1 MOBILE_PLATE AW6082 901-001
ITEM | PCs. NAME / PART MATERIAL REFERENCE NO.
i DESIGNED BY VERIFIED RELEASED DATE IF NOT OTHERWISE STATEEENERAL SURFPROJECTION | SCALE
TOLERANCES ARE ACC. [TBINISHRa 3.2 | TYP "
M.Noor N.Johansson 10.09.09 SS-ISO 2768Fn % 1:5
TITLE
UPPSALA UNIVERSITY |MTV Assembly
DETAIL A PROJECT NAME MATERIAL DWG SIZE
v Dsparimento TBTS MTV o
PHYSICS AND ASTRONOMY, CAI DRAWING NO. REVISION | SHEET
901-010 B |10F+

/\



	Sheet 1
	Views
	new_view_1
	left_2
	top_3
	new_view_4
	A
	B
	C
	D



